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I.
INTRODUCTION TO THE THEORY OF REMEDIES

A. Legal Paradigms

1. Instrumental law. American legal culture is largely instrumental – lawyers think that the law is an instrument for accomplishing things.

a. Two ideas necessary for instrumental view of law:

(1) Goal of what law is aiming at.

(2) Idea of how the law affects behavior.

2. Two theories of behavior.

a. Induces compliance: The law sometimes assumes that individuals will modify behavior to comply with rules.

b. Provides incentives. This is the view that economists take. People treat laws like prices, and comply with the rule if it’s worth it to them.

3. Different perspectives from which to examine the law.

a. Policymaker. What law of contract should we have in order to promote some particular goal?

b. Transactional lawyer. They want to know what the court will do if someone doesn’t perform. Goal is to protect client against non-performance of the other (ideally without having to go to court), and also protect client if client doesn’t want to perform.

i. Example: Contractor/client relationships. Contractors get 90% of the money for their work as they go on. At the end of a $10 million project, they have been paid $9 million. The extra $1 million gives the client leverage to make the contractor correct its mistakes.

B. Contract formation

Timeline for contractual transaction:
1. Search for contracting partner

2. Draft/negotiation (Determine what contract you would like to form)

3. Pre-contract reliance (May rely on contract occurring at some point)

4. Contract formation (Determine if you will enter the K)

5. Post-contract reliance (Act in reliance on the contract that’s formed – make investments on the assumption that the contract will be met. Buy supplies for performance, or turn down other jobs because you don’t have sufficient resources to handle two large projects at one time.)

6. Performance? (Each party determines whether to perform. If no performance, they will either bring suit or attempt to renegotiate the contract to improve the situation.)

7. Mitigate/renegotiation?

· Have to make decisions each step of the way. Each of the decisions will be affected by the price of non-performance, which will be set by the law of contractual remedies.

· How price of non-performance affects contract-related decisions.

a. As the price of non-performance rises, the likelihood that people will form contracts decreases.

b. But if the price of non-performance is very low:

(1) There will be little incentive to put care into drafting because there is no particular cost to forming and breaking contracts.

(2) Search for contracting partner would be less extensive: if you later find somebody you’d rather contract with, there is little incentive not to break the previous contract and form a new one.

C. Preferences

1. Completeness. For every pair A and B, actor either prefers A to B, B to A, or A=B.

a. It is assumed that consumers can tell you their preference.

2. Transitivity. If A is preferred to B and B is preferred to C, then A is preferred to C.

3. Example: A couple is divorcing and they must divide the assets A of the marriage and custodial responsibilities R. An allocation is a pair (p, q) such that the mother receives a share p of assets A and a share q of custodial responsibility. (So the father receives a share (1-p) of A and (1-q) of responsibility R. If the mother gets percentage p of assets, then father gets the rest. If mother gets percentage q of child custody, father gets the rest.)

a. “Normal” preferences. Most likely each one wants more. Most preferred option for both is all of p and all of q.

b. “Avuncular” preferences. An actor with avuncular preferences is either childless by choice, or else has a preference for less time with the child. This parent cares about the child’s welfare, and thus might be willing to trade some money to have less time with the child. They would be willing to spend all A for no R if necessary.

c. W.C. Fields’ preferences. (W.C. Fields said that anybody who hates dogs and children can’t be all bad.) W.C. Fields’ preference would be all of the money and none of the child.

d. All of these are rational preferences, but all of them are different.

D. Efficiency

1. Pareto Superiority: An allocation (or an outcome) X is pareto superior to an allocation Y if and only if no one prefers Y to X and someone prefers X to Y.

a. Example: If we both like mixed fruit, and I have apples and you have oranges, it is pareto superior for us to trade some fruit because each will think that he is better off for the trade.

b. Population being examined matters: Let’s say there’s a law in the US that factories in Maine always operate when the wind is blowing north so the pollution will fall in Canada. It would be pareto superior for the US but not pareto superior for all of N. America, because it makes people in Canada worse off.

2. Pareto Efficiency: An allocation X is pareto efficient if and only if there is no allocation Y such that Y is pareto superior to X. (No way to rearrange things such that someone is better off and nobody is worse off.)

3. Pareto efficient vs. pareto superior:  

a. No way to improve if pareto efficient: If there is a change that no party will veto, then the allocation is not pareto efficient.

b. Pareto superior doesn’t need to be pareto efficient: Pareto superior option is not necessarily pareto efficient, just a better way of allocation. For example, each with 4 of fruits is pareto superior to each with 2 of fruits, but not pareto efficient.

4. Example. Both Adam and Eve like fruit. Eve’s pear tree has produced 10 pears and Adam’s orange tree has produced 10 oranges. Suppose each prefers a bowl with more fruit to one with less, and, when two bowls have an equal number of fruit, each prefers the bowl with a more equal division.

a. The initial allocation, in which Adam has 10 oranges and Eve 10 pears, is not pareto efficient because both would prefer 5 pears and 5 oranges.

b. What are the pareto efficient divisions of the harvest? Two conditions –
(1) For both Adam and Eve, amount of pears equals the amount of oranges that the individual has

(2) 20 total fruit are allocated

5. Example Two: Consider two allocations of fruit between Adam and Eve:

· X = [(10,0), (0, 10)]; Y = [(1,1), (9,9)]

· Y is not Pareto superior to X. Nor is X pareto superior to Y. (Nor are they Pareto indifferent. They are Pareto not comparable.) Even though Eve would prefer 18 fruit to 10, Y is not Pareto preferred to X because Adam wouldn’t consent to a move from X to Y.

6. Efficiency as Wealth Maximization – Cost Benefit Analysis.

a. Definition: Some authors use “efficiency” in a different sense, that an allocation is efficient if and only if each resource is controlled by the individual who “values” it most. By this definition, an allocation X may be more efficient than an allocation Y even if there is some person in X who is worse off than she is in Y.

b. Example of cost-benefit analysis.

· Recall Adam and Eve.

· Adam may “value” fruit more highly than Eve because he has a larger appetite

· Suppose that each cares simply about the number of fruit.

Adam’s and Eve’s valuations

Amount of fruit

Adam’s valuation


Eve’s valuation

20


8.94



4.47

16


8



4

12


6.92



3.46

8


5.66



2.83

4


4



2

0


0



0

The wealth-maximizing allocation would be 16 and 4 – it would equal 10 total valuation and nothing else would.

7. Efficiency vs. Individual Rationality.

· Individual rationality asks what the promisor would do. It asks how people will behave – they calculate the costs and benefits to themselves in deciding whether to do something.

· Efficiency asks what would be desirable for the promsior to do. It makes the decision that is best not just for the promisor, but also for the promisee. The promisee must be indifferent between performance and non-performance and the promisor must be better off for the breach to be efficient.

E. Remedial structure’s effect on instrumental goals

1. Must understand what behavior the remedial structure induces in real people.

2. Fuller and Perdue identify three different interests protected by contract law:

a. Restitution. P has, in reliance on D’s promise, conferred some benefit on D. It is unfair to let promisor keep benefit that he extracted from promisee. Thus, breaching promisor must disgorge its benefit.

b. Reliance. P has, in reliance on D’s position, changed his position to his detriment. Thus, it restores promisee to pre-promisory state.

c. Expectation interest. Gives promisee her expectation from the K.

3. Example. On 3 January, B agrees to rent office space from S for one year, commencing 1 April, at a total rental of $60,000 for the space. She would have been willing to pay as much as $90,000 for the space. B pays S $5,000 down. She then spends $2,000 advertising her new location. On 15 February, S rents the space to T.

a. B’s restitutionary interest: The $5,000 that B paid S. That’s what she has to disgorge.

· Benefits: Promisor is able to assess how much he’ll have to pay. We may want him to breach in an economically efficient way.

· Amount to induce a breach is anything over $60,000.

· Wealth maximization theory. Space should be in the hands of whatever party values it most. B is willing to pay $90,000 for it, so it is only efficient for S to give the space to T if T values it at more than $90,000.

b. B’s reliance interest: $7,000. $2,000 out of pocket for advertising, plus $5,000 consideration.

· The initial down payment ($5,000) is triggered by the existence of the K, called essential reliance. The additional $2,000 is called incidental reliance.

· Amount to induce a breach: Above $62,000. (Have to give the $2,000 she spent in advertising.)

· Is this efficient in the wealth-maximizing sense? We can’t tell if it’s efficient for T to take the property, since B would have been willing to pay up to $90,000. We would have to be able to tell if it’s more valuable in T’s hands than in B’s.

· Incidental vs. Essential Reliance.

(1) Essential: Necessary to perform promisee’s part of contract.

(2) Incidental: Not needed for promisee, but increases value to promisee.

II.
PROTECTING THE EXPECTATION INTERESTS

A. Overview

1. Definitions.

a. Expectation interest: What promisee expected to get out of the K.

b. Expectation damages: What promisee expected to get out of the K plus damages resulting from breach. Because the breaching party is (presumably) better off from the breach, and we ensure that the non-breaching party is no worse off than if the K had been performed, it is pareto superior.

2. Concept versus Implementation.

a. Concept: If there were no problems of information, proof or evidence, what would we give the P?

b. Implementation: Remedial rules are implementation of a concept. They are an attempt to make concrete a particular conception of what the remedy should be.

3. Different methods of implementing the expectations concept
a. Specific performance. Injunction by court requiring breaching party to perform the contract.

b. Market Price Minus Contract Price. We’ll give P the difference between the two as a measure of her expectation.

c. Cover. Goes to the duty to mitigate. Cover is a remedy that is provided for in the UCC – it says that P can go out and buy the goods or services specified in the K on the market. After P gets them from someone else, he is entitled to the difference between the price he paid and the price he would have paid if he had gotten it under the K.

d. Lost Profits.

B. Implementation of Expectation Interests Through Expectation Damages

Computing the P’s expectation

1. Rental example continued
a. Suppose that B rents alternative space at a price of $68,000 per year

b. How does the “cover” measure (or the “market price minus K price” measure) protect P’s expectation?

· P is entitled to $8,000 for the space under either “cover” or “market price minus K price” measure. These do not preclude her from recovering the additional money she spent on advertising the space. Thus she is entitled to $15,000: $8,000 for the space, $5,000 for the money down that she paid, and $2,000 for the advertising.

· Pretend there was no money down or advertising money. If she makes the same profit from this new space, she can get $22,000 from it. $8,000 (the difference between the two prices) gives her the rest of the value from the new space. If the new space is only worth $85,000 (less than the old space), then she must get $13,000, so that she gets the amount of profit she had previously expected.

· Whether she gets her expectation or not depends on how valuable the new space is to her. If it’s worth more than $90,000, she’ll get extra (i.e. if she pays $68,000 and it’s worth $100,000, her expectation is now $32,000) – remember that she is entitled to the $5,000 back.

c. P’s expectation interest: Difference between value of space 1 and value of space 2, plus difference between price of space 1 and space 2.

2. Theory of efficient breach.

a. Breach should occur when, and only when, non-performance uses resources more highly than performance.

b. Efficient breach vs. rational action.

· What is rational for the promisor to do depends on the damage rule.

· What is efficient for the promisor to do does not depend on the damage rule.

3. Efficient Breach Questions
a. On what concept of efficiency does the theory of efficient breach rely?

· Wealth maximization is relevant because the concept of efficiency is based on the total value between the two parties. Whether it is efficient to perform depends on whether the value is highest with performance or non-performance. The value must be higher when he doesn’t perform than when he does for a breach to be efficient.

b. Example: Initial K is lease for $60,000 per year, lessee values it at $90,000 per year. When breach occurs as a result of the owner leasing property to a third party, third party is willing to pay $70,000 but valued the space at $80,000. Is it efficient to breach? Does this depend on damage rule?

· It’s not efficient to breach because the initial owner values it more.

· It would be rational to breach, however, if the owner didn’t have to pay more than $10,000 in damages.

c. Example: S contracts with B to manufacture 100,000 widgets for a price of $100,000. B expects a profit of $50,000. How high must S’s cost of production be before breach is “efficient”?

· Above $1.50 per widget. A widget is worth $1.50 to society. It is desirable to use any resources worth less than $1.50 to produce that good.

· If there were two sellers, the second more efficient than the first, then under this example the first seller would subcontract with the one who could do it more cheaply, to minimize his losses.

4. Cost of completion vs. diminution in value.

a. Cost of completion

b. Diminution in market value

· Rule (American Standard). The court starts with a presumption in favor of cost of completion and sets up a three-part test to switch it to diminution of value:

(1) Correction of defects would result in economic waste. Usually entails defects in construction which are irremediable or which may not be repaired without a substantial tearing down of the structure (Jacob & Youngs – wrong brand of pipe was installed in the house, but it was of the same quality. Fixing the defect would entail tearing down the walls).

(2) There has been substantial performance of the K – breach is incidental to the purpose of contract (Peevyhouse – remedial work was incidental to the purpose of the K, which focused on the removal of coal to the benefit of both parties).

(a) Language of K is useful in determining whether clause was incidental to K.

(3) Breach cannot be intentional. D must have performed in good faith, as in Jacob & Youngs.

· Reason for cost of completion as default rule: P is presumably entitled to what he contracted for. It is a proxy for specific performance, because P can hire someone to complete performance with the money.

5. American Standard v. Schectman (NY 1981)

a. Overview
· To what expectation of P does each measure of damage correspond?

· What arguments are offered in favor of each measure?

· On what basis does the court determine P’s expectation?

b. Facts: P owned property with a useless factory on it. P wanted the factory removed and the ground leveled. The D takes everything down and carts away the machinery, but fails to level the ground as per specifications. Cost of completion is $90,000 and diminution of value is only $3,000.

c. Issue: The court must decide whether to use cost of completion or diminution in market value for assessing damages.

d. Rule: The courts utilize diminution in value rather than cost of completion when:

(1) There has been a substantial performance of the K (i.e. the defects are incidental to the K)

(2) Made in good faith (i.e. not intentional)

(3) Correction of defects would result in economic waste
e. Holding: Court applies cost of completion, but the case was probably wrongly decided.

f. Applying rule to facts:
(1) Precedent proves that small value of improvements doesn’t strip P of right to have them done. Groves v. John Wonder Co. states that the small value of P’s property doesn’t diminish his right to improve it, even though the grading in that case cost $60,000 and the entire property, graded as specified, was only worth $12,160.

(2) The situation doesn’t meet any of the criteria for applying a diminution of value rule. The “economic waste” rule triggering diminution in value is only applied in limited instances, such as when there are irremediable defects – for example, the tearing down of the structure in Jacobs & Youngs, in which the wrong quality pipe had been installed. Another is when the breach is incidental to the purpose of the K.

(3) Court applies rules to the facts of the case. D’s work was not incidental to the K. Plaintiffs definitely wanted it performed, and had every right. Court holds for P.

6. Peevyhouse.

a. Facts: The Peevyhouses owned property, and the mining company wanted to strip-mine the land. P’s contract specified a price for the coal taken off their land and a condition requiring D to restore the land.

b. Holding: Court awarded only diminished-value damages for D’s failure to restore P’s land as promised after completion of its strip-mining operations.

c. Two alternative cases if plaintiffs are awarded $30,000 (cost of completion):

(1) They get the $30,000 and restore the land

(2) They get the $30,000 and don’t restore the land

d. Efficient breach in Peevyhouse: If the Peevyhouses valued the land at $51,000 (which is more than market value) and D would save $60,000 by breaching, it would be efficient to breach. Economic efficiency can take into account non-market concerns of P. The problem for the court is figuring out what the concerns of the P are and measuring them – specific performance would solve this because it would facilitate post-breach negotiations where the Peevyhouses are sure to get their valuation of the remedial work.

7. Risk Allocation. There are at least two types of risk involved in these cases:

(1) Cost of performance.

(2) Value of performance. The P may have an expectation, but may not know how valuable the performance is going to be. Three types of risks the court might want to disentangle:

a. Bad realization. You buy Amazon.com stocks today expecting it to go up, but it falls

b. Unreasonable belief. The party has unreasonable beliefs about the value of performance (i.e. that leveling the ground will double the property’s market value)

c. Change of mind. Maybe the Peevyhouses thought they were environmentalists, but later decided that Arkansas should be disfigured

· Which of these risks is relevant to the determination of P’s expectation? How do they affect the efficiency of breach?

8. Elements of expectation measures.

a. Professor Farnsworth, who served as the Reporter for R2d, elaborates on the formula in R2d §347 by which damages based on injury to P’s expectation may be computed:

(1) Loss in value: Amount by which P was deprived of expected performance – i.e. difference between value of goods that should have been delivered and the value of goods that were actually delivered

(2) Other losses: Incidental and consequential damages. Incidental damages are additional costs incurred after the breach in a reasonable attempt to avoid a loss, even if unsuccessful. Consequential damages include injury to person or property caused by the breach.

(3) Cost avoided: Party saves the further expenditure that it would otherwise have incurred in completing K.

(4) Loss avoided: Can reallocate resources that would have gone toward fulfilling K – i.e. sell supplies that would have been used for construction otherwise.

b. The formula is the sum of loss in value plus other losses, minus cost avoided and loss avoided
c. Example: Owner (O) hires Builder (B) to construct building for $200,000. The estimated cost of construction is $180,000. O breaches when the building is half completed. O has already paid B $70,000. B has spent $95,000 for labor and materials. After breach O resells $10,000 of materials purchased for the project.

· The formula:

(1) B’s loss in value: $130,000. (200,000 - 70,000)

(2) Other losses: 0

(3) Cost avoided: $85,000

(4) Loss avoided: $10,000

(5) B’s damages: $35,000 (130,000 minus 85,000 minus 10,000)

· Alternative way to calculate B’s expectation damages. He expected $20,000 profit. At the end of litigation he should end up $20,000 better off than he would have been without the K. He is owed $25,000 in costs. He mitigates by recovering $10,000 in costs. So he gets $35,000.

9. Turner v. Benson (Tennessee 1984).

· Facts: Real estate deal between the Turners and Benson. The buyer, Benson, breached the K. Turners had to go ahead and purchase the home they would purchase with profits of the sale, and incurred expenses because of that. They sued for those expenses.

· Rule: Seller can recover every item of expense incurred by plaintiff 1)  as a direct result of owning two houses 2) that was within the contemplation of the parties at the time the contract was executed and 3)  is recoverable.

a. Daycare center: Turners couldn’t recover the lost profits from their daycare center, which weren’t part of the expectations from the K (they had already decided to exit the day care business). They recovered the rest of the expenses, however.

· Hypo: What if plaintiffs had not contracted for a second home, or were able to cancel their K without loss to them? Their expectations from performance of the K are:

(1) Return on the sale price of the house (the return over 15 months of $75,000). They lost that capital between the time of D’s breach and subsequent resale. Their expectation should include the return on the principal amount. Losing the use of that money can be significant – i.e. if there is a very high rate of inflation.

(2) Money it cost to maintain the house
10. Handicapped Children’s Education Board v. Lukaszewski (Wisconsin 1983)

· Facts: D was hired by P. Wee Care offered a higher salary and she accepted. P threatened legal action and D returned to work there. Her doctor told her she had high blood pressure and D used that as a reason to tender her resignation. D got job thereafter with Wee Care. P had to hire a new teacher at a higher salary, because the other teacher had more teaching experience.

· Parties’ arguments: P argues that they wanted a teacher with D’s qualifications at the salary that they paid D – thus she owes them the difference between her salary and the new teacher’s salary. D argues that the new teacher was better by P’s own criteria, and therefore they should not be compensated for the higher salary.

· Holding: Court sides with P, finding that they are due the benefit of the bargain. They wanted a teacher with D’s qualifications at the salary they paid to D. The school had no choice but to hire this one teacher. The court infers that P doesn’t require somebody with more skills from this fact.

· Hypo: The law school hires secretaries all the time. They replace a secretary who leaves with an MBA at a higher salary. D’s argument, that the law school has gotten something more desirable, is inappropriate because that individual is overqualified for the job. They don’t need her extra qualifications.

11. Roth v. Speck (DC 1956)

· Facts: Hairdresser left his job, breaching employment K. P sues hairdresser, arguing that his salary was $75 a week but he was worth $100.

· Parties’ arguments. P argues that he is due expectation damages: $25 a week, difference between salary and market value. D argues that P hired somebody for $75 a week, and thus he owes no money. P replies that the other person was a complete failure – they wanted the value of D’s services.

· Rule: Trial court should consider the value of D’s services and profits lost by P in awarding damages (not just determine whether the position has been filled at the same salary D was receiving).

· Holding: Court finds for P. It remands the issue of damages, suggesting that it is the difference between the wage that the D is receiving now and the wage he received from the P. The wage differential isn’t easy to calculate, though, because D would get $75 per week, or 50 percent of the receipts that he brings in if that amount exceeded his salary. We would need to know the pay scale of the new place to calculate what damages P is entitled to.

· Incentive to switch jobs: D makes $75 at the old job and would make $100 at the new job. This particular measure seems to provide no incentive for the D to switch jobs. Is that a good thing or a bad thing?

a. May be inefficient. We want to maximize the value of D’s services to society at large. If value of services in new place were truly $100 it would be bad to have him stuck in employment where his value is only $75.

C. Restrictions on Recovery: Foreseeability, Certainty and Causation

1. Hadley v. Baxendale (Court of Exchequer 1854).

· Rule: Damages awarded should be:

(1) Fairly and reasonably considered to arise naturally from breach itself, or
(2) Reasonably supposed to be in contemplation of both parties, at the time they made the K, as the probable result of the breach

· Two rules the court is choosing between. The first is a limitation on foreseeability, and the other is no limitation. What is the consequence of this on the contracting parties’ behavior in the future?

(1) Contract price changes: In the world with no limitation, price of shipping is higher because shipper would function as an insurance company.

(2) Level of care changes: More care taken in the world with unlimited liability. Shipper would ask what everything is for, and how much it is worth to ship.

a. K may change in response: The shipping party may specify in K that they will assume it is X amount, and they will disclaim everything above that amount.

(3) Creates incentive to reveal information. Information sharing promotes efficiency, because more information will cause the promisor to breach only when it is efficient (cost of performance is greater than the promisee’s value). The promisee would only fail to reveal information when it determines that it would not be rational to pay the cost of insurance, or when a monopolistic promisor would charge an exorbitant amount if it knew the value to the promisee.

(4) Facilitates efficient breach: Promisor needs to know how much care it should take. The promisor will only take as much care as it would for the average promisee because it doesn’t have enough information to do otherwise. If performance is worth more than average, he will take too little care. However, if performance is worth less than average, he will take too much care.

2. Choosing between default rules for restrictions on recovery. There are two different types of rationales for choosing between these two rules:

a. Majoritarian default. The court could try to determine what most parties would want. The rationale is that if the court writes down the contractual term that most parties will contract for, it saves them the trouble – they reduce the cost of negotiating contracts for the largest set of people by providing the terms that they would have provided anyway.

· The question is whether the cost of negotiating this is less than the expected benefit. You can calculate this by multiplying the chance that this clause will be called into question by the benefit that the parties would extract from having the clause.

· Two different ways for court to determine the default.

(1) Tailored default. Court should tailor the term to the specific circumstances and context in which these parties are transacting.

(2) Off-the-rack default. One size fits all. The court says that it’s too hard for us or we’re not very good at determining what the parties would have contracted for. If we specify a general default rule, the parties will negotiate around it if it’s worth it to them.

b. Penalty default. Penalty default is arguably what the court is doing in Hadley. The court thinks it will get parties to reveal private information. It puts a burden or a cost on the party in the event that they don’t reveal information that’s valuable or important for the execution of the K.

D. Mitigation

1. Rockingham County v. Luten Bridge Co. (4th Cir. 1929).

· Facts: P had entered into a K to build a bridge for Rockingham County. Later the county commission told Luten to stop work on the bridge. Luten kept working anyway. Luten sued for breach of K, but D claims that it is only liable for damages P would have sustained if it had stopped construction when told to.

· Rule: After an absolute repudiation or refusal to perform by one party to a K, the other party cannot continue to perform and thus increase the damage award.

· Reasoning:

(1) It is inefficient to continue doing work that serves no function – it makes the breaching party worse off while does not make the non-breaching party better off, because they will receive their expectation.

(2) Duty to mitigate: P must mitigate damages caused by D’s wrongful act.

· Effect on behavior:

a. Encourages early breach. The rule of mitigation gives D an incentive to breach early. An alternative rule provides no such incentive.

· Questions.

(1) Suppose someone breaches and then changes their mind, trying to now get the K performed. How does that affect the claim? See Boehm.

· Luten Bridge Co. as lost volume seller. If P starts building another bridge after Rockingham County breaches the K, and they can prove that they could perform both contracts at the same time, then presumably they are entitled to full damages on the Rockingham County K.

2. Boehm v. ABC (9th Cir. 1991).

· Facts: Frank Boehm was wrongfully terminated by ABC in 1982. He was then offered a new position at ABC that had the same base salary. However, the salary was not necessarily equivalent, because Boehm received commissions in his old position. Also, Boehm questioned the equivalence of the duties in the new position, because it had been created just for him and nobody had filled it after it was created. ABC contended that he failed to mitigate because he didn’t accept the new position.

· Rule: The measure of recovery by a wrongfully discharged employee is the amount of salary agreed upon for the period of service, less the amount which the employer affirmatively proves the employee has earned or with reasonable effort might have earned from other employment.

a. The former employer shows that the other employment was comparable, or substantially similar, to that which the employee has been deprived.

· Employment must be comparable. There are two questions we might ask about that:

(1) What if he had taken non-comparable employment? For example, he needs cash and takes a job at McDonald’s. Does ABC get to subtract the wages he earns in this less desirable job?

a. Rationale for requiring comparable employment. The employee’s expectation is both wages and also quality of employment.

b. Should unemployment benefits should reduce damage payment? The argument for both is that the P shouldn’t be rewarded by getting more money than he would have otherwise. Some specific arguments regarding unemployment insurance:

· Argument for deducting unemployment benefits: The employer has paid part of it; it had to make payments to the state to fund unemployment insurance. Thus it may be unfair to the employer not to deduct it.

· Argument against deducting unemployment benefits: The employment K’s wage reflects the fact that the employer pays for unemployment insurance. The wage will be lower if you get a job with unemployment insurance. Thus, deducting it from damages makes the employee pay twice. This argument is the more persuasive of the two.
3. Marshall School District v. Hill (Arkansas 1997).

· Facts: Wrongfully discharged teacher’s recovery reduced by income earned from other jobs, including working in shirt factory.

· Issue: If P takes another job, comparable or not, should it reduce the amount of damages P will receive?

· Is it fair? By taking a new job, P benefits the employer.

a. Ex post: Goal of damages is to make the P whole

b. Ex ante: Goal of damages is to provide incentives to the parties (i.e. to prevent an employer from wrongfully terminating an employment K)

· Mathematical formula. E: Value of the job (expectation). T: Salary. SW: Sweatshop salary. The monetary damage award is either T or T – SW. Thus, depending upon whether we find that there is mitigation, her total award is either T + SW or just T. We might say that T + SW still doesn’t give her what she bargained for. That would be a reason for not reducing it.

a. In general, you’re only entitled to T as damages, not E.

b. If she values her job at E and firing her is worth less than E to employer, then from an economist’s perspective she shouldn’t have been fired.

· Effect on non-breaching party’s behavior: If we mitigate for non-comparable employment, he has a reason not to accept that job.

4. Lost volume sellers: Mitigation is irrelevant in the context of lost-volume sellers (Jetz). If P could fulfill both the K with breaching party and the new K simultaneously, the new K does not count as mitigation. P must show:

(1) that it possessed the capacity to make an additional sale
(2) that it would have been profitable for it to make an additional sale

(3) that it probably would have made an additional sale absent the buyer’s breach.

E. Nonrecoverable Damages

1. Types of non-recoverable damages:

a. Attorney’s fees

b. Emotional distress caused by the breach

c. Punitive damages.

· The first two seem like they ought to be included if one is trying to implement expectation damages.

2. Attorney’s fees against insurance companies (Gamache). P generally is not entitled to recover attorney’s fees. However, there is an exception in the insurance industry context for failure of insurer to represent P. Four reasons for this different treatment

(1) They’re regulated
(2) They tend to use standard form contracts
(3) Imbalance of bargaining power.

(4) If we don’t compensate for attorney’s fees, they can put pressure on insureds and undermine the purpose of the K.

3. American vs. British rule for recovery of attorney’s fees.

· Difference between the rules: Victorious plaintiffs recover attorney’s fees under the British rule, but not under the American rule.

· Policy effects of British rule.

(1) Discourage litigation. Fee shifting increases the stakes of the litigation. Having higher stakes might encourage litigation, depending on the strength of the claim – plaintiffs with strong claims are more likely to litigate under the British rule, and plaintiffs with weak claims are more likely to litigate under the American rule.

a. Wealth as a factor in decision to bring a claim: People who are not wealthy might fear the extra loss under the British rule. The US also allows contingent fee arrangements, allowing people who might otherwise be unable to afford litigation to sue.

(2) Discourage settlement. If you can recover attorney’s fees, you have an incentive to keep fighting to win the case (British rule). If not, you are just running up your own fees (American rule) – thus, you should try to settle earlier.

· Efficient breach in American and British rule.

a. From plaintiff’s perspective.

(1) American rule: P would get expectation minus attorney’s fees

(2) British rule: P would get expectation

b. From defendant’s perspective.

(1) Fee shifting: Under British rule, D has to pay expectation plus attorney’s fees. He won’t breach when he sometimes ought to breach because the price of breaching exceeds the cost. He has to pay E +AF.

c. Mathematical formula. E – AF < B < E + AF. [E = expectation, AF = attorney’s fees, B = breach]

· Settlement amount in American vs. British rule. The settlement amount will generally be greater under the British rule than the American rule. The amount of the settlement is determined by both amount in controversy and the likelihood of P prevailing.

· Division of the surplus. Under expectation damages, the breaching party will never settle for more than expectation damages.

a. Litigation costs. If it’s costly to litigate, they’d be willing to pay more to avoid the cost of litigation. If the P’s probability of prevailing were 1, they’d be willing to pay up to the cost of going to court plus the damage award. But the probability of winning is always less than 1.

b. Probability of P losing. If there is some probability that P won’t succeed, then P’s expected recovery is less than his expectation because he’ll get his expectation when he wins and gets nothing when he loses. On average, what the promisor pays in settlement is less than the expectation.

4. Expectation Damages and Costly Litigation.

· Example 1. P’s expectation: $1000. D’s cost of litigation: $100. P’s cost of litigation: $100. D’s benefit from breach $1500.

a. Is breach efficient? Yes, because the benefit from the breach is greater than the cost of litigation.

b. Suppose P’s probability of prevailing is 1. For how much will P and D settle?

(1) Under the American rule, the settlement range is between $900 and $1100

(2) Under the British rule, D will pay as much as $1200

c. What if the remedy was specific performance? Absent litigation costs, the least P will accept is $1000, and D would be willing to pay no more than $1500. That is in the absence of litigation costs. Factoring in litigation costs, it is between $900 and $1700.

· Example 2. P’s expectation: $1000. P’s and D’s cost of litigation: $100. D’s benefit from breach $1100.

a. Is breach efficient? If it costs over $100 to breach, it won’t be efficient to breach. Thus, if they have to go through litigation, it isn’t an efficient breach.

b. Suppose P’s probability of prevailing is 1. For how much will P and D settle?

(1) Under the American rule, for between $900 and $1100

(2) Under the British rule, D will pay up to $1200.

· How British rule affects behavior. British rule makes breach more costly. There will be fewer breaches, and some of the failures to breach will be inefficient.

5. Emotional distress.

· Rule (from R2d §353, Gaglidari): Recovery for emotional disturbance will be excluded unless:

(1) the breach also caused bodily harm, or
(2) the contract or the breach is of such a kind that serious emotional disturbance was a particularly likely result. It is only particularly likely if K was uniquely intended to protect some personal interest incapable of compensation by reference to the terms of the K.

III. ALTERNATIVE WAYS TO PROTECT THE EXPECTATION INTEREST

A. Specific Performance

1. Reasons courts are hesitant to award specific performance:

a. Court has to monitor performance.

· Especially a problem in construction contracts – a lot of oversight is required.

b. Expectation damages a sufficient remedy.

c. Relations between the parties turn dour after litigation, complicating specific performance.

2. City Stores v. Ammerman (DC 1968).

· Facts: Defendants didn’t have a good chance of securing the necessary zoning rights and asked P for a letter expressing the desire to be a part of D’s mall in exchange for space in the mall. P wrote this letter. Subsequently, defendants were given the necessary zoning rights but attempted to exclude P.

· Issue: Can court award specific performance for an option K with terms still to be agreed upon?

· Rule: Specific performance is appropriate when 1) damages are difficult to determine, or 2) monetary damages won’t fully compensate P. A K that contains some terms subject to further negotiation will not bar a decree for specific performance if, in the court’s discretion specific performance should be granted.

· Holding: Court grants specific performance in this case.

· Why did P want specific performance instead of expectation damages?

(1) It’s an ideal location
(2) Hard to calculate damages – proof problems, good chance of undercompensation. Specific performance, on the other hand, would give them their expectation exactly.

· Specific performance can increase the chance of an efficient outcome. It facilitates negotiation. If Sears really values the lease more, they could buy it from City Stores. There would then be some price greater than the value that City Stores puts on the lease and less than the value that Sears puts on the lease.

· How is the extra benefit (from Sears getting the lease) divided among the parties to the transaction?
a. Expectation damages regime: Ammerman and Sears get the benefit. Ammerman only gives it to Sears if he gets rent greater than the expectation damages that he has to pay to City Stores. City Stores ostensibly will be in the same position as before they entered the original K. This is a pareto improvement because everyone is at least as well off as they were before the breach, and Ammerman and Sears are doing better.

b. Specific performance: City Stores and Sears get the surplus. City Stores can sell the lease for more than they valued it. City Stores has to be delivered its value and a little more. Sears will end up buying it from City Stores, and the benefit will be divided between the two lessees rather than the owner and one lessee.

c. These remedies have the same effect on end use of the space (both are pareto improvements), but different effects in terms of who benefits.

3. Peevyhouse Revisited
· Recall that the diminution in market value was $300 and the cost of completion was $25,000.

· Suppose the Peevyhouses value the graded land at $20,000.

· Is it efficient for Garland Mining to perform? No – it would make more sense for company to purchase the land from them at more than $20,000 and then not do the grading. They would be better off not regrading it because it would cost $5,000 more.

· What is the value of non-performance? D won’t perform, but the benefit will be split between Garland Mining and the Peevyhouses. Garland Mining will say that they want to buy the right to specific performance from the Peevyhouses. There are a number of prices between $20,000 and $25,000 at which the two parties can agree to this deal.

4. Expectation Remedy and Pareto Efficiency
a. An expectation remedy, even though it seems to rely on the idea of efficiency that we call wealth maximization, in fact implements the idea of pareto efficiency. By delivering the expectation to the promisee, it leaves the promisee no worse off than they would have been if the K had been performed. The promisor will breach only if the promisor is better off from non-performance, and thus it benefits breaching party without damaging the non-breaching.

b. Specific performance gives more of a surplus to the promisee than expectation damages does. Under expectation damages, the promisee is indifferent between performance and non-performance. Under specific performance, he may be somewhat better off.

· Shown through Peevyhouse. If the Peevyhouses only valued performance at $20,000, there is a surplus of $5,000 to be gained from non-performance of the K. Under expectation damages, all of that value goes to the mining company – they pay the Peevyhouses $20,000 and walk away with the extra $5,000. Under specific performance, some of the $5,000 will go to the Peevyhouses.

· Widget example. S agrees to produce a custom widget for B. The K price is $75. B values the widget at $100. At the time of K, S does not know the cost of production. S does know that the cost will be either $125 (with probability .05), $80 (with probability .4) or $30 (with probability .55). What is S’s expectation?

(1) 55% chance of gaining $45, 40% chance of losing $5, 5% chance of losing $50. Thus the expectation is $24.75 – $2 – $2.5 = $20.25.

(2) Seller’s expectation changes with time. At some point he finds out how costly performing the K will be. If it is very expensive, he may choose not to perform. If he sees that it will cost $80 to perform, his expectation changes to the realization that he will lose $5. If the cost is going to be $30, then it is a better K than he expected – it will be valued to him at $45. When we talk about a concept of expectation as a remedy, you can ask which expectation is the relevant one – the one at the time of formation, the one at the time of breach, or the one he would have at the time the dispute is resolved in court? If we measure it at the time he goes to court, breach looks good. It doesn’t look as good if we measure it at the time of formation.

(3) This K should be performed when the realized costs are less than or equal to $100.

(4) Court’s perspective. If court is trying to promote efficiency, it wants performance when it is efficient under expectation damages. Why should the surplus be given to the promisor rather than the promisee? The policymaker is looking for a rule that will induce people to perform the K when it ought to be performed from a social point of view. Expectation damages does that if we can measure it exactly. In that instance a policymaker pursuing efficiency would induce rational promisors to breach exactly when the policymaker thinks it’s socially desirable for them to do so.

5. Expectation damages as insurance.

a. Expectation damages include insurance costs. Expectation damages says that in every K the promisor sells not only the good but also insurance for the good. That suggests that part of this price is to pay for insurance. If we say that the damage rule is half of expectations, presumably we wouldn’t have to pay sellers as much to deliver – we also wouldn’t pay them as much, because they wouldn’t be as likely to deliver.

b. Ex post rule appropriate: If we give the person his realized expectation each time a K is breached, then on average he’ll get the same amount. We think that the ex post is much easier for a court to implement, for two reasons:

(1) It’s easier to observe what’s realized than what’s not realized

(2) Courts aren’t good at probabilities.

c. Expectation damages provide pareto improvements: Expectation damages provide pareto improvements by ensuring that P is no worse off than he would have been in the absence of a K, and that D (breaching party) is better off.

d. Who gets the surplus from non-performance? Under an expectation remedy regime, the breaching party gets the surplus. If the remedy is specific performance, the surplus will likely be divided between the two parties. The D will say that it’s too costly to perform and buy his way out of performance.

(1) If P valued performance at $100 and performance would cost $125, D would be willing to pay up to $125 and P would take anything over $100. Promisors benefit less under specific performance because they are forced to disgorge some of the benefits of non-performance.

6. Ex post renegotiation. Under specific performance, after the breach we’d expect the parties to renegotiate out of litigation.

7. Complete contingent claims K.

a. Discussion of the complete contingent claims K is based on the example introduced above: S agress to produce a custom widget for B. The K price is $75. B values the widget at $100. At the time of K, S does not know the cost of production. S does know that the cost will be either $125 (with probability .05), $80 (with probability .4) or $30 (with probability .55). There are three possibilities for the K – one where cost is $30, one where it is $80, and one where it is $125.

b. A complete contingent claims K specifies what happens in each state of the world. It will say something like:

(1) If cost of production is $30, S will produce and deliver the widget and B will pay $X upon delivery.

(2) If cost of production is $80, S will produce and deliver the widget and B will pay $X upon delivery.

(3) If cost of production is $125, S will not produce the widget, and will pay B $X in lieu of the widget.

c. It is hard to breach a complete contingent claims K because it specifies what happens in each situation. For example, K might say that S is paid $50 if cost of production is $30, $95 if cost of production is $80, and if cost of production is $125 then nothing happens.

d. Reasons to enter complete contingent claims K: B might not want to purchase insurance as well as the widget – he might only want the widget. Thus a contingent claims K is superior to a K that provides him with expectation damages.

e. Reasons parties don’t enter contingent claims K:

(1) Expensive: There are a lot of contingencies in the real world, and writing them all down may be very costly.

(2) Hard to demonstrate state of the world: It might be hard to prove exactly what the realized costs are – S may have difficulty convincing B that the cost was $125, and B should give him a higher payment than if it were $30.

f. Contingent claims contracts and third parties. The K should specify what happens if a third party values the widget more highly than B if the cost is $30, $80 or $125.

8. ABC v. Wolf (NY 1981). Specific performance in the context of employment contracts.
· Facts: D was a sportscaster, who entered into a K that contained a good-faith negotiation and first-refusal provision. Wolf and CBS orally agreed to terms of employment. CBS agreed to hold open an offer of employment to Wolf until expiration of the first-refusal period. ABC sought enforcement of its right of first refusal and an injunction against Wolf’s employment with CBS.

· Rule: Once an employment contract has terminated, specific performance is potentially available only to prevent 1. injury from unfair competition or tortious behavior, or 2. to enforce an express anticompetitive covenant. In absence of such circumstances, the general policy of unfettered competition should prevail.

· Holding: For D. Court rejected ABC’s argument that the Wolf K should be specifically performed. Partially this is because the employment K is tied to Wolf’s livelihood.

· What should ABC have written to prevent Wolf from working with another station? They could have had an agreement not to compete clause, stating that he couldn’t work with any other station for three months after leaving ABC.

· What harm does P think breach of each of these clauses caused?

a. Good faith negotiation clause: It meant that ABC didn’t have the opportunity to reach an agreement with Wolf. What would ABC need to make it whole?

(1) The money that they spent trying to sign him

b. First-refusal clause (only the dissent believes this clause was breached). The dissent characterizes the first-refusal clause as an implicit clause not to compete for 90 days. ABC can either habituate its viewers to the alternative to Wolf, or else have an “out of sight, out of mind” situation. If he goes to CBS now, the number of viewers who go with him will be greater. Does this kind of harm need to be remedied with specific performance? How do you measure the damages monetarily?

B. Liquidated Damages

1. Wasserman’s Inc. v. Township of Middletown (NJ 1994).

· Facts: The Township and Wasserman’s had a commercial contract. A liquidated damages clause was in controversy.

· Test. There was a three-prong test for validity of clause:

(1) Damages uncertain or difficult to prove [goes to ex ante view of uncertainty]

(2) Parties intended clause to liquidate damages

(3) Amount in controversy is a reasonable forecast – no penalty clauses
· Parties’ expectations: P’s expectation is that they would be paid everything they lost and would potentially lose through breach of the K. D’s expectation is rent received minus rent to Township.

· Reasons to allow liquidated damages provisions:

a. Saves the parties time

b. Lets the parties determine what should be the precise cost of breach

· Would it yield efficient breach?

a. Breaching party will depend on liquidated damages provision instead of cost of breach. If the liquidation price were below expectation, there would be inefficient instances of nonperformance.

b. K price would be lower than it would have been in the absence of the clause. The promisee is paying for less insurance. The liquidation amount can be seen as an insurance K for delivery of promisee’s expectations.

· Why do people include liquidated damages provision if they’re unlikely to induce efficient breach?
a. Avoid paying the costs of insurance in the K. The promisee may not need the promisor to insure him because he may be able to get insurance someplace else – i.e. alternative sources of supply.

b. Facilitate long term relationships: Avoid the cost of court and avoid the effect that it has on relationships

c. Effect on decision-making throughout the process of K formation. Setting the liquidation amount might get the breach remedy wrong, but it may create better decisions prior to the breach decision (i.e. the right reliance decisions).

i. Example: Each party has a reliance decision after the K is made. The more she invests, the more valuable having that location becomes. Arguably, when people gets their expectation, we induce them to invest too much in advertising because there are other people out there who might use that space. With liquidated damages, we can make sure that she gets the investment decision right.

d. Parties may be more likely to get amount of expectation damages right than the court.

(1) The provision ensures that parties get earlier decisions correct prior to the breach decision.

(2) Parties may be more competent than the court will be under the circumstances.

· Asymmetry of liquidated damages rule. The legal rule prohibits penalty clauses. That means the promisor can challenge it, but it will be difficult for the promisee to challenge.

a. Refutation of some general defenses:

(1) Unequal bargaining power argument. If it’s a smaller manufacturer, the larger party could just obtain a lower K price rather than insisting on a penalty clause. Thus, it isn’t obvious that the unfair bargaining power argument will work in this context.

b. Argument in favor of abolishing asymmetry: Damages are generally undercompensatory.

(1) They leave out attorney’s fees.

(2) Can’t incorporate all the value that the promisee places in the K (idiosyncratic preferences).

· Liquidated damage clause doesn’t prevent P from going to court and asking for specific performance rather than amount of liquidated damages.

a. Reintroduces uncertainty. If we still allow specific performance, we reintroduce the uncertainty. Specific performance lets the promisee extract some of the surplus from the promisor for non-performance, so all of a sudden it’s uncertain again. If point of the clauses is to permit certainty, it isn’t obvious that you shouldn’t let the parties contract out of specific performance.

2. Arbitration clauses. In general, arbitration clauses are respected. However, an exception occurs when D asserts a federal right against the arbitration clause – i.e. Phillips v. CIGNA, where D asserts the right to be free of gender and race discrimination. This is one of the instances where competing policy concerns dictate that the court not respect the arbitration clause.

IV. PROTECTING OTHER INTERESTS

A. Reliance Damages – Seeks to put party back in position they would have been in absent reliance when the expectation damages are too speculative – reliance is used as a proxy for expectation.
1. Wartzman v. Hightower Productions (Maryland 1983).

· Facts: Plaintiffs started corporation to set world record for flagpole sitting. The attorney they hired did not properly incorporate them. Although they were entirely dependent on selling stocks for profit, lawyer informed them that they couldn’t sell any further stock because corporation was structured wrong, and they needed to hire a securities attorney to correct the problem.

· Limitations on reliance damages:

(1) Full performance would result in net loss. Reliance damages wouldn’t be appropriate in such a situation, because they are only provided when expectation damages are too difficult to prove. If you can prove that performance would result in a net loss, then the expectation is measurable.

(2) Mitigation. If both parties have the opportunity to mitigate losses, P may not have a duty to mitigate. Here, P did not have to mitigate:

a. They were broke. The corporation ran out of capital because they could no longer sell stock.

b. P’s financial inability due to D’s breach. D was supposed to enable P to sell stock.

c. Mitigation looks like cover here. Court wanted D to purchase the service for P that the D failed to deliver. D could have mitigated its own error by providing P with the money for legal services that it could have utilized to continue.

· Efficiency in reliance damages. The natural way to think about this is like a torts case. The question is how much care should the D take, which is the equivalent act to efficient breach. The amount of care depends on the consequences of not taking care. The goal is to make D realize the full cost of the breach.

2. Walser v. Toyota Motor Sales (8th Cir. 1994). P should not receive a windfall.
· Facts: Toyota wanted to establish Lexus in dealerships in Minnesota. They approached two individuals who already owned a dealership. In response, they bought some land for the dealership. The Lexus agent verbally told them that their dealership would be approved. A few days later the Lexus agent said it hadn’t been approved and they needed more information. Plaintiffs sued to get their full expectation.

· Promissory estoppel: Plaintiffs prevailed on their promissory estoppel claim. Elements:
a. D made a promise

b. On which P justifiably relied

c. To his detriment

d. Application: D promised that P’s dealership was approved, and P detrimentally relied by purchasing property.

· Damage award. Court provides the difference between market value of the property and the amount that P paid for the property, defining it as “out of pocket expenses.”

a. Good measure: We should measure P’s reliance as the change in value of the land so that we restore him to his pre-reliance position, but don’t let P reap a windfall.

· No contract had been made. The P didn’t have a right to the K because the K hadn’t been formed. Thus, P was only entitled to the expenditures he had wrongfully been led to make that he otherwise would not have made.

B. Restitutionary Damages.

1. Appropriate vs. inappropriate restitution.

· Inappropriate restitution. A lot of restitution cases are perplexing. In Algernon Blair (contractor would go over budget and the client fires him, after which the contractor sues), the question is this: If the client hadn’t breached, then the contractor would have. The client wouldn’t have then been in the mess they were left in – under the threat of having to deliver the value of the benefit conferred. They would have sued the contractor, who would have breached because it’s too expensive for him to finish the K. It seems that the result in that case isn’t just.

· Appropriate restitution. If a doctor helps someone who’s collapsed, they have a good suit for quantum meruit – he should pay the doctor back. There was no chance for the parties to negotiate.

2. United States ex rel Coastal Steel Erectors, Inc. v. Algernon Blair, Inc. (4th Cir. 1973).

· Facts: P Coastal Steel Erectors was a subcontractor hired by Algernon Blair. They did a lot of work and D didn’t pay. With 28% done, P stopped working and sued. P would have lost money if they had completed the job, but ask for quantum meruit.

· Quatum meruit. Reasonable value of services. It’s essentially a claim of unjust enrichment.

· Potential measures of damages:

(1) Costs incurred

(2) Benefits conferred

· Questions.

(1) Was it rational for D to breach?

(2) Was it efficient for D to breach?

· Stylized version of Algernon Blair. K price $60,000. Value of work performed $50,000. Cost (to P) of work done $40,000. Amount paid prior to breach $23,000. Amount unpaid prior to breach $37,000. Cost of completion (to P): $50,000. Price paid to 2nd subcontractor $35,000.

a. This is a losing K. It cost the 2nd subcontractor $35,000 to complete it.

b. What does P get under limitation rule? His expectation on the K was negative. On K as performed, he lost $17,000. Thus, P’s loss is $17,000.

c. What is D’s cost of performance? $58,000 – he paid the first guy $23,000 and the second guy $35,000.

d. The difference between the two is that D would pay $58,000 when K price was $60,000 so it was rational for him to breach the K. If this is the rule, he gains a benefit. If the price to the second subcontractor were $45,000 then it wouldn’t have been rational for him to breach.

· In Algernon Blair, P’s Damages weren’t limited

a. P’s net profit from the job is $10,000. He is making a profit because he paid $40,000 to give the P $50,000 worth of benefit. What is a losing K has been turned into a profitable K.

b. D’s cost of completion is $85,000 ($50,000 to P plus $35,000 to finish job). Under this rule it’s not rational to breach initial K.

c. Even though it would be efficient to breach under expectation damages, our rule has made a rational D choose a non-efficient outcome.

· Suppose D had not breached. What would P do?

a. It would make sense for him to either breach the K or stop working and pay the second subcontractor to complete the work. It would cost him $50,000 to complete it, while the second subcontractor can be hired for $35,000. The cheapest way for this P to perform the K is to have someone else do it.

b. P’s loss if he completes the K is $30,000. P’s loss if he breaches is $15,000 – he pays $30,000 if he gets it, so his total loss is $15,000.

c. It’s rational for P to have cheaper sub-K perform the work.

· Unlimited damage rule doesn’t align rationality with efficiency: Providing quantum meruit on a K that otherwise would have been a losing K for the non-breaching party fails to align rationality with efficiency. Rather, it drives a judicially sanctioned wedge between efficiency and the parties’ behavior.

· Efficient result will occur regardless of rule. In this example, regardless of which rule we have, the performance is carried out efficiently in the sense that the second sub-K will finish the job because he’s a cheaper provider of the job.

· Presumably the cost of performing the K was uncertain at the time the K was assigned. They made bids that were their best guess of the cost so that on average they would make a profit. The fact that it’s a bad cost realization doesn’t make it inefficient.

· Ex ante vs. ex post fairness. When we ask whether the rule is fair, there are two different points in time at which we can evaluate the fairness – ex ante or ex post. We can ask if it’s fair given the parties’ expectations at the time they signed the K. The P made a cost-plus K and it seems a little odd to let him make money on a K he would have lost money on. If we interpret it as the P choosing to be part of the job and then leaving, then it seems fair to give him recovery.

a. Ex ante: It’s unfair to D not to follow the K (by providing quantum meruit rather than the payment provided by the K).

b. Ex post: It’s unfair to P to let D get a huge benefit from P’s work without paying.

3. Lancellotti v. Thomas (Pennsylvania 1985).

· Facts: First, Thomases sell business to Lancellotti for $25,000. Second, Lancellotti leases the premises. Third, Lancellotti is supposed to build an addition to the premises. It is consideration for the sale of the business. Lancellotti ends up not continuing the business, and sues to get back all or part of the $25,000 under restitution, because the Thomases reopened the restaurant despite his ownership.

· Decline in the value of the business good will. Good will of business declines from the sale. Is that reflected in a damage measure?

· Should Lancellotti get any money back? Presumably he was buying the business. However, when he buys the business one of the things he can do is stop running it if he chooses. So why should he get money back if he chooses to stop running it?

a. May be a change from the old common law rule. It may stand for the proposition that the old common law rule which prohibited breaching party from getting any restitution is replaced by a rule which entitles them to restitution, offset by whatever damages they impose.

(1) Architect hypo. In a professional services K, the payments of the client to the architect may not exactly correspond to the amount of work the architect has done at any given point. If the client breaches, they may want money back on the ground that the value of the services delivered is less than the payment they made – the cost of their breach to the architect is minimal. Is that case more attractive for restitution than this?

· What would be the measure of the amount of restitution to Lancellotti?
a. Damage to good will of business. Thomas claims that Lancellotti did “grievous damage” to the goodwill of the business. $25,000 plus construction of addition is a measure of the previous goodwill of the business. If that’s just $5,000 now, then the $20,000 decline is due to Lancellotti and he shouldn’t get more than the $5,000 back.

V.
JUSTIFICATIONS FOR NON-PERFORMANCE

Duress, economic duress and undue influence synopsis

Duress – physical compulsion.

Economic duress – economic compulsion.

· In economic duress, their capacity to make a rational decision isn’t undermined. It is perfectly rational to accept the settlement when it’s offered.

· Ex post view. Courts look at things ex post – is it unfair now. This is bad because parties negotiate for the price to account for things up front. By saying a K is unfair ex post, you’ll just alter the price parties pay for allocation of risks. This is an argument against economic duress rules in courts – if the courts say it’s unfair, it will just alter the price paid.

Undue influence – Occurs when we think that the person’s capacity to render sound judgment has been harmed or defeated by the D’s actions. In Odorizzi, there is some reason to suspect the individual’s ability to make good or rational decisions. It doesn’t necessarily result from physical compulsion. It may be rational to do what you do in the face of physical compulsion, which is different from Odorizzi, where the suggestion was that his action may not have been rational because of the circumstances that he was in.

· If Odorizzi had consulted with a friend and a lawyer who told him not to sign the resignation, the court might find that he had advice and reach a different decision.

Behavioral component of these doctrines:

(1) Disincentive to use duress, economic duress, undue influence. On the margin, we might think it will affect some behavior but we might not think the effect is very large for physical duress.

(2) Economic duress may effect settlement negotiation. We care about the rate of settlement. We might think we should shape our economic duress rule in the light of a settlement rate. If you can escape your settlement because of economic duress, people might settle a lot less, which would be a bad thing.

(3) Applying economic duress to a corporate entity doesn’t make sense. It doesn’t seem to make sense to care about the well being of a corporate entity independent of the people working for it. The only thing of intrinsic value is the well being of the individual. There is really no situation under which economic duress would be a good rule as it applies to a corporate entity.

A. Mistake. Mistake must be about a material fact that exists at the time the K was entered.

1. Lenawee County Board of Health v. Messerly (Michigan 1982). Mutual mistake.
· Facts. In 1971 the Messerlys acquired an acre plus 600 square feet of land. Prior owner had put a septic tank there and didn’t do it properly. New owners argued there was a mistake because they bought the property as an income-producing property – since it wasn’t fit for human habitability, there was no value in it. They sue for rescission of the K.

· Rule: Allocation of risk (R2d §154). A party bears the risk of a mistake when:

(a) the risk is allocated to him by agreement of the parties, or

(b) he is aware, at the time the K is made, that he has only limited knowledge with respect to the facts to which the mistake relates but treats his limited knowledge as sufficient, or

(c) the risk is allocated to him by the court on the ground that it is reasonable in the circumstances to do so.

· Definition of mutual mistake: Both parties are unaware of some preexisting condition with respect to the subject matter of the K.

· “As-is” clause in K. A clause in K allocates the risk of unforeseen circumstances (mistakes about condition of the land) to the buyer. The court’s holding is that the K allocates the risk to the buyer, and there’s no reason to interfere with the K.

· Effects of the remedy in affecting decision to breach. We should also ask what effects it will have on 1. negotiations or 2. the parties’ incentives to discover facts or 3. draft a more detailed K that more specifically allocates the risks for one party or the other to undertake an investigation to determine what the conditions are at the time of sale. The question for the court is on whom to allocate the loss.

a. One argument is that the seller erred in not investigating the decision at the time he or she purchased the property from the prior owner.

2. Wil-Fred’s, Inc. v. Metropolitan Sanitary District (Illinois 1978). Unilateral mistake.
· Facts. Subcontractor’s bid too low – Wil-Fred’s discovered error in subcontractor’s bid immediately after. City attempts to obligate Wil-Fred’s and keep their security deposit.

· Four factors required for rescission:

(1) That mistake relate to a material feature of the K.

(2) That it occurred notwithstanding the exercise of reasonable care.

(3) That it is of such grave consequence that enforcement of the K would be unconscionable.

(4) The other party can be placed in statu quo.

· Difference between case with reliance and no reliance. If it had taken P longer to determine the error, the city may have had to go through a new bid process, and there may have been delay that would be costly. Prices could rise over time and people who bid may find it more costly to perform now because they have other jobs. All those would harm the D, preventing D from being placed in status quo – thus court may have been less willing to allow rescission.

· Difference between unilateral and mutual mistake case. What’s equitable is at issue in each case. In unilateral mistake case, the equities may run more in favor of the non-mistaken party. In a mutual mistake case, scales start out equal. That’s why “evidence of these conditions [listed above] must be clear and positive,” and mistaken party must be able to return the non-mistaken party to the status quo.

B. Changed Circumstances, Impracticability, and Frustration.

1. Karl Wendt Farm Equipment Co. v. International Harvester Co. (United States Court of Appeals 1991).

· Facts: IH entered into franchise agreement with Karl Wendt, then claims that it can’t continue because it went out of business. The court holds that IH should not be excused for economic downturn.

· Doctrine of impossibility [R2d §261 provides that doctrine of impossibility implies not only when performance is impossible, but when supervening circumstances make it impracticable] – R2d §261: “Where, after a K is made, a party’s performance is made 1. impracticable without his fault by the 2. occurrence of an event the non-occurrence of which was a basic assumption on which the K was made, his duty to render that performance is discharged, 3. unless the language or the circumstances indicate to the contrary.”

a. Comment d: Mere lack of profit is insufficient to constitute impracticability.

b. Comment b: Continuation of existing market conditions and of the financial situation of one of the parties are ordinarily not basic assumptions of the K, the non-occurrence of which can constitute impracticability.

c. Two examples of impracticability (Comment b):

(1) A contracts to employ B for two years at a set salary. After one year a government regulation makes A’s business unprofitable and he fires B. A’s duty to employ B is not discharged due to impracticability, and he is liable for breach.

(2) A contracts to sell B a machine to be delivered by a certain date. Due to a suit by a creditor, all of A’s assets are placed in receivership. A is not excused for non-performance under impracticability.

· Frustration of purpose – R2d §265: “Where, after a K is made, a party’s principal purpose is substantially frustrated without his fault by the occurrence of an event the non-occurrence of which was a basic assumption on which the K was made, his remaining duties to render performance are discharged, unless the language or the circumstances indicate the contrary.”

a. Three factors in frustration of purpose:

(1) Supervening event must have been the principal purpose of the party making the K. Frustrating event must destroy the primary basis of the K.

(2) Frustration must be substantial. R2d §265 comment a provides that it cannot simply become less profitable. The frustration must be so severe that it is not fairly to be regarded as within the risks that he assumed under the K.

(3) Frustrating event must have been a basic assumption of the K.

· Difference between this and the mistake cases. The formal distinction is that mistake cases deal with what is knowable at the time of the K.

a. For future changed circumstances, perhaps parties who could be harmed by risk could also benefit from it.

b. One party might be in a better condition to predict the condition

c. There may also be moral hazard with respect to this decision. You can’t insure your property against fire for more than the value of the property – the S. Bronx in the mid-1970s demonstrates why. A circumstance where it’s difficult to determine whether it was brought about by the insured or an accident is the standard context of moral hazard.

d. Who can avoid in a least costly way the event that happened. You should make those people responsible for losses that occur, because they’re more likely to make good decisions about reducing the risk that those losses are going to arrive. For example, in Karl Wendt, IH may be going out of business because they made bad business decisions. If so, the risk should be placed on them.

(1) It is analogous to placing the burden on the party that can best discover the mistake in mutual mistake cases.

e. There is also the suggestion that we should allocate risks one way or another for drafting reasons – this is the reason that we construe insurance K’s against insurers. If something untoward happens in an insurance K not governed by the terms, the K will be construed in favor of the insured rather than the insurer.

· Holding: Court finds that the alternative is to share the burden of the loss or to share the gains from the sale. The court finds that what IH is doing is escaping whatever liability it has to the franchisees (moral hazard).

· Maybe we should look at the contractual arrangement as one that unfairly allocates all the gains to IH, when the franchise arrangement was meant to share the risks of both the gains and the losses in the operation of this business. The court refers to a prior case against IH where the sharp practices of IH are outlined in greater detail.

· We want the party that’s the better bearer of the risk to bear the risk. We should presume that if the K allocates the risk to a party, the party to whom it’s been allocated is the superior risk bearer. The court should accede to the judgment of the parties as to who is the superior risk bearer. Absent that, the court will allocate that risk to the party who’s better able to discover or prevent it.

a. In the event there’s no difference in that respect, we allocate it to the party who’s better able to insure against it.

2. Government order can constitute impracticability: When government prevents D from doing something, the court is much more likely to grant relief based on a claim of impracticability (Harriscom Svenska).

a. Indeed, UCC 2-615 makes specific mention of “compliance in good faith with any applicable foreign or domestic governmental regulation or order” as a basis for relief.

b. R2d §264 also recognizes compliance with foreign or domestic governmental orders as a basis for excuse under the doctrine of impracticability.

C. Duress and undue influence.

1. Totem Marine Tug & Barge, Inc. v. Alyeska Pipeline Service Co. (Alaska 1978). Economic duress.
· Facts: Totem was an undercapitalized startup company. There were numerous problems from the beginning, including an unforeseen increase in the amount of the shipment. They were in urgent need of cash. Alyeska said they would delay payment and Totem settled for a third of what the K was worth. To prevail in the suit, Totem would have to get out of the K that released Alyeska from liability.

· Holding: Totem gets to go to trial because Alyeska knew they were in severe financial straits.

· Rule: To show economic duress, P must show:

(1) one party involuntarily accepted the terms of another,

(2) circumstances permitted no other alternative, and

(3) such circumstances were the result of coercive acts of the other party.

· No other alternative: Totem could have pursued a remedy for breach, but they had creditors who were breathing down their necks and they were in desperate need of cash. They would have gone bankrupt. In this case, the financial distress has to be caused by a wrongful act of the other party.

a. Zeilinger. Subsequent employment relations case in Alaska. Employee wants to get out of the K and presumably claim more money. They don’t let the employee out of the K – they say that he was in financial distress because of his own action.

· Here’s what Alyeska could argue:

(1) Breach was warranted

(2) Alyeska didn’t acknowledge that they owed the amount of money that Totem claims

· Hypo: Alternative rule where D’s responsibility is irrelevant – it’s just the existence of financial stress. What effects might that rule have on substantive actions?

a. Big companies might be less willing to settle with companies in financial distress because the settlement is likely to be overturned. It might have bad effects on companies in financial distress.

· Effect rule would have on prior decisions.

a. It would affect the formation decision – gives parties an incentive to deal with companies that are more solvent because it solves problems at the end.

b. One reason for choosing the more restrictive rule (that requires D to be responsible for the financial distress of the P) is that we don’t want to lessen incentives for people to settle lawsuits with in financial distress.

2. Odorizzi v. Bloomfield School District (California 1996).

· Facts: P arrested for homosexual activity. Principal and superintendent went to his house and told him that he needed to resign or else all this would be publicized. He resigned, the charges were dropped, and he’s trying to get his job back by attempting to rescind the K that lays out his resignation.

· Elements of duress:

(1) wrongful or improper threat

(2) lack of reasonable alternative

(3) actual inducement to K by threat

· Elements of undue influence:

(1) coercive persuasion which overcomes will without convincing the judgment

(2) high pressure

· Different between undue influence and duress.

a. One view: Duress is a rational actor with no good choices. Undue influence is actor that can’t act rationally.

· Pattern of undue influence usually involves several of the following elements:

(1) discussion of the transaction at an unusual or inappropriate time
(2) consummation of the transaction in an unusual place
(3) insistent demand that the business be finished at once
(4) extreme emphasis on untoward consequences of delay
(5) the use of multiple persuaders by the dominant side against a single servient party

(6) absence of third-party advisers to the servient party

(7) statements that there is no time to consult financial advisers or attorneys

· We void these K’s because the party can’t actually have consented.

· Would this case have been different if the charges had been dropped already? If the rationale is that the party couldn’t have been consented, it shouldn’t be relevant whether consent was reasonable or not reasonable.

· What was the undue influence here? It was the circumstances. They could have done this in some other way – they could have done this in some other location.

D. Misrepresentation and Nondisclosure.
1. Syester v. Banta (Iowa 1965). Misrepresentation.
· Facts: Old lady was sold 4,000 hours of dance lessons under questionable circumstances, then was persuaded to sign a release after she sued.

· Holding: She is allowed to rescind those K’s and get damages on some other basis.

a. The misrepresentation for the rescissions is that there was an action that was improper – leading her away from her attorney.

2. Hill v. Jones (Arizona 1986). Nondisclosure.
· Facts: Buyers enter into agreement with sellers. Part of it states that they must place into escrow a termite inspection report.

· Issue: The sellers have knowledge that there are termite problems. Does seller have a duty to inform the buyer of the termite problems of the past?

· Holding: Sellers had a duty to inform.

· Rule: Vendor has an affirmative duty to disclose material facts where:

a. Disclosure necessary to prevent a previous assertion from being misrepresentation or from being fraudulent or material
(1) Fact is material if it is one to which a reasonable person would attach importance in determining his choice of action in the transaction in question.

b. Disclosure would correct mistake of other party as basic assumption on which that party is making contract, and if nondisclosure amounts to failure to act in accordance with principles of good faith and fair dealing
c. Disclosure would correct mistake of other party as to contents or effect of writing, evidencing or embodying an agreement in whole or in part

d. Other person is entitled to know the fact because of a relationship of trust and confidence between them

· Facts are material if:

(1) not readily observable and not known to the buyer

(2) materially affects the value of the property (i.e. different outcome would have occurred if they had known)

(3) information that is casually acquired, and didn’t require deliberate and costly investigation

· Integration clause: There’s an integration clause in the K which says that any representations outside the K are put to the side. It is not sufficient here, however, because any provision in a K making it possible for a party thereto to free himself from the consequences of his own fraud in procuring its execution is invalid and necessarily constitutes no defense.
· Hypo: I own property in Oklahoma in the 1930s and someone purchases it at a low price. Although there’s dust on it, there’s oil underneath. They knew there was a high probability of oil. Do they have a duty to disclose?

a. It may be the case that it’s better to let people profit from their additional information if those profits add value to the economy. If the wildcat driller has to reveal the existence of oil, they won’t go out to look for it, which means that we won’t find as much oil.

b. In the oil case, if people know the oil is there they have the same valuation of the property. Trades are the result of asymmetric information.

c. It’s costly to discover information, so we don’t want to undermine incentives to acquire that information. That suggests that buyers with differential knowledge ought not be required to disclose it. Otherwise those people would not earn a return on the cost of acquiring the information. If it costs me $50,000 to discover information and I have tell you there’s oil, then I will buy the land at a price that captures the value of information. I would ex ante then not spend my money to discover that there’s oil under the land.

d. Alternative hypo: What if the seller knows there’s no oil and the buyer thinks there is? It’s an interesting and harder case, but you’re probably not under a duty to disclose that you drilled a well and it came up dry. What if the seller puts it on the market at a price that suggests that it may have oil on it?

· Why should the termite damage be allocated to the seller in Hill v. Jones?

a. Information was readily available. We want information to be shared but don’t want people to be disincentivized from doing research. Thus, we give an individual the duty to disclose information which did not cost them anything to obtain, while they have no duty to disclose information which they had to do research to obtain.

b. It justifies the distinction between information to which only one party is privy because they own the product as opposed to something external. Both parties have incentives to discover external things and have equal access to them.

c. It also suggests that in the termite cases, the owner of the house has an incentive to discover whether the structure is termite ridden. This is something in the interest of the owner to discover, so it’s doubtful that allocating this burden on the owner will alter his incentives very much. Also, if the market for termination systems is competitive and the market for property is competitive, the disclosure will only alter the price by the cost of the extermination services.

· The concern here is that both parties may be ignorant or they may be asymmetrically informed. In some markets (i.e. stocks), unless people were asymmetrically informed they wouldn’t trade. Lots of trades require people to have different beliefs about the value of an object. This will be particularly true in some contexts where the value of the object is determined by the market.

E. Unconscionability.

1. Williams v. Walker-Thomas (US Court of Appeals 1965).

· Facts: P’s property repossessed for missing payments. The company can repossess those things on which money is still due. The kicker is that the P can’t pay off one item until she pays off all of them.

· Effect of security deposit. The effect of the security deposit should be to make the loan less risky for the creditor. The probability that they’ll get the money back is much higher – therefore they don’t need to charge as high an interest rate. An interest rate reflects two different types of concerns – the time value of money (a dollar today is worth more than a dollar tomorrow), and the risk that the dollar won’t be delivered.

a. Argument in favor of the clause: Epstein argues that this clause is good because it permits the seller to offer credit at a lower rate by reducing the risk that he won’t be compensated. The lower rate is good for purchasers who otherwise might not be able to afford the higher price.

· Unequal bargaining power: What does it mean?

a. Should poverty/education level be a determination in unequal bargaining power?

b. There are usury laws that fix the rate of interest that the company can charge.

c. In the background is the notion that if Williams had understood what she was doing, she wouldn’t have bought the stereo.

· Hypo. She’s paid off everything that she bought from Walker-Thomas prior to purchasing the stereo and now Walker-Thomas says they’ll lend her the money – she can buy it on credit but they want a security interest in the furniture she already purchased that they have no title in. Is that OK or is it also substantively unconscionable?

· Nothing inherently wrong with a security interest. Home equity mortgages – those are borrowing against your house to buy something else. There’s nothing per se illegal about it. How is it different than a situation in which the security interest is my used Walker-Thomas furniture?

a. It may be that we have an interest in creative financing arrangements in order to get credit to communities that have difficulty getting credit. Is there any difference between the home equity loan and the hypothetical Walker Thomas arrangement where they take the security arrangement in already purchased Walker Thomas furniture?

· Reason for the clause: A judgment against the individual owing money can be used as a threat. If seller obtains a judgment against them, the sheriff will show up and take the buyer’s assets. If the seller can show this clause in the K to the buyer, the buyer is more likely to comply than if the seller can’t point to the language.

· Behavior effects of clause being struck down by the court.

a. Seller will increase the price in terms of interest or some other way. The security deposit is a way to protect the seller in the case of nonpayment, and if the security deposit is likely not to be enforced, the seller will have to find another way to protect itself.

b. Seller may not take the clause out of the K. The fact that it won’t be enforced in court won’t matter if people respond by giving up their assets voluntarily rather than having the sheriff knock down the door. Since a lot of people in poor neighborhoods can’t afford lawyers to give them advice or to challenge the provisions in court, it’s not clear to what extent consumer credit markets in poor neighborhoods change after this decision – this decision probably had little effect on conduct of the market.

· Alternative way to regulate this credit market that would be more effective: Punitive damages. If seller is caught, they have to pay more – this provides an incentive not to use this mechanism. It is not ideal, however:

(1) May give windfall to buyers

(2) Company will take punitive damages as an operating cost and others will still suffer from the clause. Most consumers won’t have the benefit of counsel/access to the legal system, so the benefits of the clause will be unevenly spread out.

(3) More public remedies will be a better mechanism for policing the market.

2. American Software, Inc. v. Ali (California 1996).

· Facts: Ali signed a K even though she thought clauses were unenforceable in CA. It regulated the amount of commissions she would get. She voluntarily left for a competitor and didn’t get commissions.

· The draw. In her job arrangement, she got a fixed salary plus a draw – an advance on commissions. It interacts with this termination clause because the draw is offset by commissions. If she left and had a negative credit on the draw, the company would eat the loss and she wouldn’t have to repay them.

a. It shows that the company is giving something, not just getting something – the provision isn’t solely in favor of the company because they stand to lose something also.

· Evaluate the clause ex ante. We shouldn’t evaluate the fairness of the clause ex post – we should evaluate it ex ante, when it was formed. Ex post, she lost from it. Ex ante, you couldn’t predict that she would lose from it.

· No procedural defects: The court said that she was in fact able to negotiate various terms of the K – we shouldn’t understand the K to be procedurally defective.

· Distinction between quitting and getting fired. If Ali quits, she gets commissions for the next 30 days. If she’s fired, she gets them for the next 90 days. This makes the K less oppressive because it’s harder for the company to time its firing so that they fire her at a time that would economically benefit them, when they see lots of commissions coming in.

a. It’s also easier for her. She knows what this clause says. She’s leaving voluntarily and gets to choose the timing of her departure. She presumably knew which of her clients had not yet made the payments. To the extent that it’s under her control to collect these payments, she’s in part responsible for her failure to collect on the commissions.

3. Piantes v. Pepperidge Farms, Inc. (Massachusetts 1995).

· Facts: PFI was coming out with a new product and wanted to convince Piantes to split his route. He wouldn’t, so they exercised the right to terminate the franchise agreement without cause. It provided that if they elected to do that, they would pay him 125% of the value of the franchise. He can accept the value or he can go to arbitration, and the arbitrators would determine what an appropriate value would be.

· Holding: Clause is not unconscionable:

(1) Piantes profited from the route

(2) Commercial context

(3) Piantes knew new about the clause

· Unequal bargaining power. There are two general areas of unequal bargaining power:

(1) Education level of the party entering the K – could they understand the clause?

(2) Commercial or consumer contract. In commercial setting it is an arm’s length K, so you’re expected to put the K under greater scrutiny.

· Different contexts for unconscionability. There are three different contexts to these cases – consumer context, employment context, franchiser/franchisee context. We are most likely to find the consumer context unconscionable, because there’s more likely to be one sophisticated side represented by attorneys, and another side that may have lower levels of education and not represented by attorneys. We are least likely to find the franchiser/franchisee K unconscionable, because it is most likely to be an arm’s length transaction between two sophisticated business entities.

· What if they wanted to take away the route and give it to the nephew of the regional manager? It probably wouldn’t matter – you look at the clause at the time the K was entered, ex ante.
